
���� ��� �	
��
 �
���
 ������� 

 

 

��� ��� ���� 	
�� 
�� �� �����
��� �����  �� � ����� ���� ��  � 
���� �!�� ��.  

 �!�� �# �$
%&� ��'�� ()*$ +��
#)T (

Gs = 75 GPa           Gt = 45 GPa 

 

 

  
.� ��(# /*�τallow=100 MPa  0��� �

 
# (#�(#  
.� /'�� ����  � ���#

T=25 kN.m  �1� 2 � (34 +�(�5 ��(4

 

 

���� ��� �	
��
 �
���
 �������

���� ��� �	
��
 �
���
 ������� 

��� ��� ���� 	
�� 
�� �� �����
��� �����  �� � ����� ���� ��  � 
���� �!�� ��

 
# (#�(# ���� �� ��(# /*� (67��8 (5�50 MPa  �!�� �# �$
%&� ��'�� ()*$ +��
#

 
7 /'�� ���� ����9 ���# ��.  

= 45 GPa

���� �7 ��� ��:
� ;�(#  � (�  
�� (��� �1��   
.� ��(# /*�

��
# �� . (#�(# �1� 0�<L=2 m  
# (#�(#  
.� /'�� ����  � ���#

��� . ��'�� ��
��5 �=� �1� (5�T=25 kN.m

���� ��� �	
��
 �
���
 �������

1- ��� ��� ���� 	
�� 
�� �� �����
��� �����  �� � ����� ���� ��  � 
���� �!�� ��

 @$� ( 
# (#�(# ���� �� ��(# /*� (67��8 (5�

A B��� ��CD ( 
7 /'�� ���� 

 

2 - ���� �7 ��� ��:
� ;�(#  � (�  
�� (��� �1�

 ��(#G=39 GPa ��
# ��

φallow=0.10 rad ���

B��
# ��
# ��CD  

 



���� ��� �	
��
 �
���
 ������� 

 

 

τallow=10 ksi  ��(# 0��� �

 	9 0�< �L=32 in ��
# �� .

  
.� ��'�� ()*$ ���C� +��
#Tallow  ���� ��

���� ��(4 �6!6� ��(��5 ��'�� ()*$ �=� +
�� �� ��� ���� 	
�� ��(��� (��� �1� . �1�

 �# �1� �� ��(# /*� (67��8 ��(# ���
F&

 (��*7 G��H�.  

��
# (�  
�� I��J �# ��'�� ���K5�
# �7 ��*7 
8 �� ���5 �# ��.  

���� ��� �	
��
 �
���
 �������

 G�(%� �1� ��*7 L(�2   
.� ��(# /*� 
# 2��*���$9  �=10 ksi

��
# ��� ��:
� . 
# (#�(# �1� (34d=1.5 in  	9 0�< �

 
# (#�(#  
.� /'�� ����  �'�
*Dφallow=0.10 rad   
.� ��'�� ()*$ ���C� +��
#

���� ��(4 �6!6� ��(��5 ��'�� ()*$ �=� +
�� �� ��� ���� 	
�� ��(��� (��� �1�

 ��(# 0��� 
# M$
G ��� ��� 
���� .@$� ( �# �1� �� ��(# /*� (67��8 ��(# ���
F&

��*7 G��H� .A ( 
7 /'�� ����  ��(# ���
F&)φB (

 

��
# (�  
�� I��J �# ��'�� ���K5�
# �7 ��*7 
8 �� ���5 �# ��

 

3 -  G�(%� �1� ��*7 L(�

G=3800 ksi  ��
# ��� ��:
�

 
# (#�(#  
.� /'�� ����  �'�
*D

��*7.  

  

4- ���� ��(4 �6!6� ��(��5 ��'�� ()*$ �=� +
�� �� ��� ���� 	
�� ��(��� (��� �1�

P�  � ��(# 0��� 
# M$


  � �H#
� I��Jx ��*7 G��H�

5 -  G�(%�4 ��
# (�  
�� I��J �# ��'�� ���K5�
# �7 ��*7 
8 �� ���5 �# ��



���� ��� �	
��
 �
���
 ������� 

 

 

 R
C� �� ��'�� �
���
��5 �=�B  �C �(�5 �� ��(4 .

 ���� �1� �� �� ��(# /*� (67��8 
=� � ���C�

φD/A=.(  

���� ��� �	
��
 �
���
 �������

G=12 x 106 psi ( R
C� �� ��'�� �
���
��5 �=�

 �d2=1.0 in @$� +�*�
# ( ���� �1� �� �� ��(# /*� (67��8 
=� � ���C�

 �� /:(D ���� C  ��*7 �F�
=� ��)φC.(  

���� �� ���� ����� �1� �� �# (�  ��'�� �
���
��5 .  

��*7 G��H� �1� �� �� ��(# /*�.  

 �
S��� �� G�# �F�� /'�� ���� A  �D  ��*7 G��H� ��)=φD-φA

6-  (�  ����� �1�)psi

 �'�
*Dd1=1.75 in  �

��*7 .A ( �� /:(D ���� 

 

7- ���� �� ���� ����� �1� �� �# (�  ��'�� �
���
��5

@$� ( (67��8��*7 G��H� �1� �� �� ��(# /*�

A ( �
S��� �� G�# �F�� /'�� ���� 

 

 



���� ��� �	
��
 �
���
 ������� 

 

 

A ( /'�� �#
V ���C�J  ��

A ( /'�� �#
V ���C�J  ��

 .A ( /'�� �#
V ���C�J  ��

���� ��� �	
��
 �
���
 �������

(�  W 
� ���X Y3C� �� :@$� (��*7 G��H� �� ��(# /*� (67��8 .A

T= 500 kip.in 

 

(�  W 
� ���X Y3C� �� :@$� (��*7 G��H� �� ��(# /*� (67��8 .A

T= 5 kN.m 

(�  W 
� ���X Y3C� �� :@$� (��*7 G��H� �� ��(# /*� (67��8 .

T= 4 kN.m 

a=90 mm, b=120 mm, c=150 mm, t 

 

8- (�  W 
� ���X Y3C� ��

����9 ���#.  T= 500 kip.in

9 - (�  W 
� ���X Y3C� ��

����9 ���#  .T= 5 kN.m

 

10- (�  W 
� ���X Y3C� ��

����9 ���#  .T= 4 kN.m

a=90 mm, b=120 mm, c=150 mm, t1=3 mm, t2=5 mm


